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‘ QA—LIHS Y
5.3%

2 ®S NS
6.0%

L\T:o CLE . S OXALY kA—L
@TL PN - e 0
21% OFELE 9.7%
’ 1.4%
B % 1E B EIN B & i I FE H—ER TENE EH-BE Z Dt H| 5l A RE & &t
DL HEDI—LR— 249 21.9% 261 20.7% 234 22.5% 285 18.8% 362 24.7% 100 22.4% 57 22.4% 270 23.3% 14 222% 18328 22.0%
QEBEDA—NTHTY 67  5.9% 50 4.0% 54 5.2% 49 3.2% 9%  6.5% 22 4.9% 19 75% 76 6.6% 5 7.9%  438%F  53%
®r('7‘)'gﬁjs’ Mwitter 75& 39 3.4% 70 5.6% 52 5.0% 106 7.0% 128  87% 23 5.2% 8 31% 75 6.5% 3 48% 5044  6.0%
@3k 103 9.1% 115 9.1% 98 9.4% 147 9.7% 135 9.2% 34 7.6% 17 67% 13 9.8% 6 95% 7684  9.2%
®FALYRA—IL 88  7.7% 107 8.5% 105 10.1% 167 11.0% 137 9.3% 61 13.7% 26 10.2% 14 9.9% 4 63% 809  9.7%
OFMEE 16 1.4% 15 1.2% 18 17% 28 1.9% 12 08% 6 13% 7 27% 15 1.3% 1 16%  118#  14%
DFLE-SSADEE 21 1.8% 40 3.2% 15 1.4% 36 2.4% 24 1.6% 9 2.0% 8 31% 22 1.9% 1 16% 1768 21%
@ERMEEELCRA 401 35.3% 432 34.3% 342 32.8% 463 30.6% 381 26.0% 137 30.7% 84 32.9% 344 29.7% 20 317% 2,604 31.2%
N =&,
@ﬁ;“'a{)*;;g*éiﬁimmg 48 42% 48 3.8% 27 2.6% 85  5.6% 77 53% 24 5.4% 8 3.1% 57 4.9% 1 16% 3758  45%
. e b "
PN Py
ﬁ]ﬁ:aggfi;ﬁﬁ&ﬁ 82 7.2% 86 6.8% 74 71% 114 75% 91 6.2% 21 47% 16 63% 51 4.4% 6 95% 5414 65%
S it E

Dzt 2 0.2% 8  0.6% 2 0.2% 10 0.7% 6 0.4% 3 0.7% 0.0% 6 0.5% 0.0% 3TH 0.4%
mEE 20 1.8% 26 2.1% 21 2.0% 23 15% 17 12% 6 13% 5 2.0% 14 12% 2 32%  134#F  1.6%

& & 11364 - 12584 - 104246 - 1513% - 14664 - a468 - 2550 - 11574 - 63 - 833644 100.0%
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I IR0 91/ IILRABREEICODBRIEFRICHALELEM?

I MNELZzERUL LNV E=ARICBfRILLET,
fBFEANL-EEILX, AEOEERYEZHEODICTHHT
L=H?

B RIAZEICFALTLWSADOEZ L. 321444
(77.3%)T&H 7=,

B CO>LEBALEERETEEOEECETETH
IDIZT+HHRTLEMAEDEZBIZRLTIE., TE
LMV1(2,36048,73.4%). TULMNZ 1(84145,26.2%) &
ot

DlE
73.4%

DIF Ly
77.3%

18

OF A 3,2144 77.3%
@UWhz 90744 21.8%
ERE 364 0.9%

& &t 4,157 100.0%

OF{} 2,360 73.4%
@Quz 8414 26.2%
EEZE 134 0.4%

& Bt 3,214 100.0%
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Question 117 D ——————————

s

M E£XRIZHFT,. chhoHEaIOFISMILR
RS CHINSRIAEZF AT SERIIHYET

A2 _,

FoyYoR A
52.4%

. @%l\:{s*ﬂ'&4,1 5714:0
B [HOhSZELN2,177H,52.4% 0 xE 2 <, TLW
Z 1098144,23.6%). IE LY 1(89044,21.4%) &5 L

Zo " ounnz
23.6%

@lF 122 21.0% 137 21.6% 115 22.1% 154 20.7% 144 19.9% 45  19.7% 25 19.2% 134 23.8% 14 43.8% 890fF  21.4%
[(AAV- 141 24.3% 162 25.6% 137 26.3% 163  21.9% 173 23.9% 41 18.0% 26 20.0% 133 23.6% 5 15.6% 981  23.6%
[©zeFat=y A 301 51.8% 318 50.2% 254 48.8% 410  55.0% 388 53.6% 137 60.1% 76 58.5% 281  49.8% 12 375% 2177  52.4%
EEE 17 2.9% 16 2.5% 14 2.7% 18 2.4% 19 2.6% 5 2.2% 3 2.3% 16 2.8% 1 3.1% 1094 2.6%

& it 58144 = 6334 = 52014 = 74544 = 72444 = 2284 = 13044 = 56444 = 324 = 4,157  100.0%

Q 20 FREMRIHHE
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